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[bookmark: _GoBack]Contrasting the Claims 
Instructions: Individually review the items below that have been written for 4.OA below. Review them with a partner by claim number. Be prepared to respond to the following questions: 

1. What are the differences in the way the problems are written by claim? 
2. How does the focus on the four claims change the way you instruct and assess students in the classroom?

Claim 1: Examples
Grade 4 – 4.OA
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Grade 4, 4.OA
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Grade 4, 4.OA
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Claim 2: Examples
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Claim 3 Examples
Grade 4, 4.OA
Joe and Sally make 72 cookies for a bake sale.  They will put an equal number of cookies into bags.  Joe and Sally want to put more than 2 cookies but fewer than 10 cookies into each bag.  
Sally says they can only put 8 cookies into 9 bags or 9 cookies into 8 bags.
Joe thinks there are more ways to put an equal number of cookies into bags.
Explain why Joe is correct or incorrect.  
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Claim 4 Examples
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Item Types Activity
Review the ‘Item Type’ worksheet and talk to a partner about these questions. Be prepared to share your discussion:
· What implications do these item types have, if any, on your instruction and assessment of students?
· What resources do you have that might allow you to create similar items and imbed them in instruction and assessment?
Multiple Choice – multiple correct responses (3rd grade)
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Multiple Choice – single correct response (5th grade)
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Equation/Numeric (3rd grade)
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Equation/Numeric (4th grade)
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Drag & Drop (bottom bar) (5th grade)
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Drag and Drop (side bar) (3rd grade)
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Graphing (4th grade)
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Graphing (5th grade)
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Fill in Table (5th grade)
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Matching Table (4th grade)
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Hot Spot (3rd grade)
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Hot Spot (4th grade)
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Example Stem: Select the list of numbers that are all multiples
of 8.

8, 18, 24, 44

8, 26, 44, 62

16, 32, 48, 64

40, 48, 54, 76

oowy
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Example Stem: Decide whether each number is prime or
composite. Click in the table to respond.

Prime Composite

17
52
87
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Example Stem: Decide whether each number is prime or
composite. Click in the table to respond.

Prime Composite

17
52
87
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Example Stem: Drag numbers into the boxes to make factor
pairs of 12.
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Example Stem: Drag numbers into the boxes to make factor
pairs of 12.
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Example Item 4 (Grade 4):
Primary Target 2A (Content Domain OA), Secondary Target 1A (CCSS 4.0A.3)

Tina and Marco play a number game. Tina gives Marco a number and he does three computations.
« He multiplies the number by 2.
« He adds 7 to the answer.
« Then, he subtracts 2 from that answer.

What number should Tina give Marco so that the final answer is 377

Rubric: (1 point) The student enters the correct number (e.g., 16).

Response Type: Equation/Numeric
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Example Item 4 (Grade 4):
Primary Target 2A (Content Domain OA), Secondary Target 1A (CCSS 4.0A.3)

Tina and Marco play a number game. Tina gives Marco a number and he does three computations.
« He multiplies the number by 2.
« He adds 7 to the answer.
« Then, he subtracts 2 from that answer.

What number should Tina give Marco so that the final answer is 377

Rubric: (1 point) The student enters the correct number (e.g., 16).

Response Type: Equation/Numeric
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Example Item 2 (Grade 4):
Primary Target 2D (Content Domain NBT), Secondary Target 1E (CCSS 4.NBT.5), Tertiary Target 1A (CCSS
4.0A.3)

Tim and Cam made posters for art class. They each used 1 poster board, 3 markers, and 3 feet of ribbon.
The table shows the cost of their supplies.

Supplies Cost
1 Poster Board $5
3 Markers $2+$2+92

3 Feet of Ribbon | $1 +$1 +$1

They each figured out how much the supplies cost in a different way.

Tim’s solution Cam'’s solution
5+(3x2)+(3x1)=14)5+3x2+1)=14

Which equation can be used to explain why Tim and Cam got the same result?
A (3x2)+(3x1)=3x(2+1)
B. 5+(3x2)=3x(2+1)
C. (3x2)=3x(2+1)
D.3x(5+1+1)=5+3x(2+1)
Rubric: (1 point) The student selects the correct option (e.g., A).

Response Type: Multiple Choice, single correct response





image60.png
Example Item 2 (Grade 4):
Primary Target 2D (Content Domain NBT), Secondary Target 1E (CCSS 4.NBT.5), Tertiary Target 1A (CCSS
4.0A.3)

Tim and Cam made posters for art class. They each used 1 poster board, 3 markers, and 3 feet of ribbon.
The table shows the cost of their supplies.

Supplies Cost
1 Poster Board $5
3 Markers $2+$2+92

3 Feet of Ribbon | $1 +$1 +$1

They each figured out how much the supplies cost in a different way.

Tim’s solution Cam'’s solution
5+(3x2)+(3x1)=14)5+3x2+1)=14

Which equation can be used to explain why Tim and Cam got the same result?
A (3x2)+(3x1)=3x(2+1)
B. 5+(3x2)=3x(2+1)
C. (3x2)=3x(2+1)
D.3x(5+1+1)=5+3x(2+1)
Rubric: (1 point) The student selects the correct option (e.g., A).

Response Type: Multiple Choice, single correct response
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Example Item 2 (Grade 3):
Primary Target 3E (Content Domain OA), Secondary Target 18 (CCSS 3.0A.B), Tertiary Target 3C

Tasha is doing an art project with square tiles. This picture shows her design. Tasha thinks:

This part is
3 x 9 tiles,

This part is
9 x 3 tiles,

Tasha says, "I need (3 x 9) + (9 x 3) = 27 + 27 = 54 tiles to make the design.”
Which statement explains why Tasha is not correct?

27 + 27 does not equal 54.

(3 x 9) does not equal (9 x 3).

Tasha multiplied 9 x 3 incorrectly.

Tasha included the 9 squares in the middle twice.

=il 4

Rubric: (1 point) The student selects the correct statement (e.g., D).

Response Type: Multiple Choice, single correct response
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Example Item 2 (Grade 3):
Primary Target 3E (Content Domain OA), Secondary Target 18 (CCSS 3.0A.B), Tertiary Target 3C

Tasha is doing an art project with square tiles. This picture shows her design. Tasha thinks:

This part is
3 x 9 tiles,

This part is
9 x 3 tiles,

Tasha says, "I need (3 x 9) + (9 x 3) = 27 + 27 = 54 tiles to make the design.”
Which statement explains why Tasha is not correct?

27 + 27 does not equal 54.

(3 x 9) does not equal (9 x 3).

Tasha multiplied 9 x 3 incorrectly.

Tasha included the 9 squares in the middle twice.

=il 4

Rubric: (1 point) The student selects the correct statement (e.g., D).

Response Type: Multiple Choice, single correct response
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Example Item 1 (Grade 4):
Primary Target 4D (Content Domain OA), Secondary Target 1A (CCSS 4.0A.A), Tertiary Target 4A,
Quatemary Target 1A (CCSS 4.0A.3)

A group of 137 students and 15 adults go to a museum. The students and adults have to take the elevator
up to the 6th floor.

« The elevator can hold a maximum of 12 people.
« Atleast one adult must ride with each group of students on the elevator.

Part A:
What is the fewest number of elevator trips it will take to get all of the students and adults to the 6th floor?
Enter your response in the first response box.

Part B:
What is the fewest number of people on the final elevator trip?
Enter your response in the second response box.

Rubric: (2 points) The student correctly enters the minimum number of trips and the total number of people
on the last elevator (e.g., 13, 8).

(1 point) Partial credit is possible for correctly entering the minimum number of trips or the total number of
people on the last elevator.

Response Type: Equation/Numeric (2 response boxes)
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Example Item 1 (Grade 4):
Primary Target 4D (Content Domain OA), Secondary Target 1A (CCSS 4.0A.A), Tertiary Target 4A,
Quatemary Target 1A (CCSS 4.0A.3)

A group of 137 students and 15 adults go to a museum. The students and adults have to take the elevator
up to the 6th floor.

« The elevator can hold a maximum of 12 people.
« Atleast one adult must ride with each group of students on the elevator.

Part A:
What is the fewest number of elevator trips it will take to get all of the students and adults to the 6th floor?
Enter your response in the first response box.

Part B:
What is the fewest number of people on the final elevator trip?
Enter your response in the second response box.

Rubric: (2 points) The student correctly enters the minimum number of trips and the total number of people
on the last elevator (e.g., 13, 8).

(1 point) Partial credit is possible for correctly entering the minimum number of trips or the total number of
people on the last elevator.

Response Type: Equation/Numeric (2 response boxes)
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Use this number line to answer the question that follows.
P

-—t—t—t— ettt
0 1

Choose all the number lines that show a fraction equal to the fraction shown by point P.

[ A

0 1
D B

0 1
0 c

0 1
D D

0 1
O+ + 5




image90.png
Use this number line to answer the question that follows.
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Jen measured the growth of a sunflower.

o In week one, it grew 2% inches.
e In week two, it grew 2% inches.

e In week three, it grew 3% inches.

How much did the sunflower grow in the three weeks?

© gl
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Jen measured the growth of a sunflower.

o In week one, it grew 2% inches.
e In week two, it grew 2% inches.

e In week three, it grew 3% inches.

How much did the sunflower grow in the three weeks?

© gl
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Lisa had 3 pizzas. Each pizza was cut into 8 pieces. Lisa ate 2 pieces. How many pieces were left?

Write an equation to show how many pieces were left.
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Lisa had 3 pizzas. Each pizza was cut into 8 pieces. Lisa ate 2 pieces. How many pieces were left?

Write an equation to show how many pieces were left.
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To play a game, each player must make a 5-digit even number. The player with the greatest number is the
winner of the game. digit cards show the number made by player 1.

el

These cards show which numbers are left.

QEEBMd

Use the remaining cards to create a 5-digit even number that will win the game.

SOOI





image120.png
m /]

To play a game, each player must make a 5-digit even number. The player with the greatest number is the
winner of the game. digit cards show the number made by player 1.
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These cards show which numbers are left.
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e er

Several expressions are shown.

Decide if the value of the
expression is less than, equal
to, or greater than 15.

Drag the expressions to the
correct category in the chart.

Less than 15 Equal to 15 |Greater than 15
2xix(5x3) (5x3)+5 Lx(E5x3)
(5x3)+6 20-(5x3) (5x3)x(8-7)
1x(5x3) 2x(5x3)





image130.png
e er

Several expressions are shown.

Decide if the value of the
expression is less than, equal
to, or greater than 15.

Drag the expressions to the
correct category in the chart.

Less than 15 Equal to 15 |Greater than 15
2xix(5x3) (5x3)+5 Lx(E5x3)
(5x3)+6 20-(5x3) (5x3)x(8-7)
1x(5x3) 2x(5x3)
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David wants to create the
L-shaped desk shown. He
decides to buy two rectangular
desks and put them together.

« Drag numbers into the boxes
to show the missing
dimensions.

 Use the Connect Line tool to
draw a line dividing the
diagram into two desks.
Make each desk 5 feet by 2
feet.

* What is the total area of the
L-shaped desk? Drag
numbers into the box to
show your answer.

VNV A WNH O

0 D G

A.

2 ft

7 ft

Total area: \:l ft2
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Kelly's soccer team played 24
?ames. The team won exactly
wice as manJ games as it lost.
The team tied in 3 games.

Click above each label to create
a bar graph showing how many
?arpes Kelly's team 'won and
ost.

Number of Games

16
14
12
10

Team Games

— i

+
Won Lost Tied
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Each square in the grid
represents 25 square units.

Use the Connect Line tool to
draw a rectangle that has an
area of 875 square units.

© I CRIR= CIETD

Key
:] represents 25 square units
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Each square in the grid
represents 25 square units.

Use the Connect Line tool to
draw a rectangle that has an
area of 875 square units.
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:] represents 25 square units
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An input-output table is shown. The numbers in the output column are produced by applying the same rule to each number i the input columa.

Enter values to complete the table.

Tnput Output
4 24
s 30
6 36
7 [
s [
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An input-output table is shown. The numbers in the output column are produced by applying the same rule to each number i the input columa.

Enter values to complete the table.

Tnput Output
4 24
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Decide whether each number is a multiple of 6, a factor of 6, or neither. Each number may be matched to more than one description. Click in the
table to respond.

Multiple of 6 Factor of 6 Neither a Multiple nor a Factor of 6

1 O O O
2 O O O
3 O O O
6 O O O
8 O O O
12 O O O
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Decide whether each number is a multiple of 6, a factor of 6, or neither. Each number may be matched to more than one description. Click in the
table to respond.

Multiple of 6 Factor of 6 Neither a Multiple nor a Factor of 6

1 O O O
2 O O O
3 O O O
6 O O O
8 O O O
12 O O O
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Joanna has the following blocks:

« 2 hundreds
« 16 tens
5 0nes

Lynn thinks that Joanna cannot
model 342 with the blocks she
s.

Click blocks to show that Lynn is
incorrect.
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Maria measures the lengths of
ribbons. She records the
lengths on the line plot as
shown.

She needs a total of 12 inches
of ribbon.

Click three data points to create
a combined length of 12 inches.

Ribbon Lengths

X
X X
X X X X
X X X X X X X
33 37 4 4F 42 43 5 5%

Lengths (inches)
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Example Stem: Enter numbers into the boxes to make four
different factor pairs of 54.

=54
=54
=54
=54

X | X |x|x
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Example Stem: Enter numbers into the boxes to make four
different factor pairs of 54.

=54
=54
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X | X |x|x
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Example Stem: Select the list of numbers that are all multiples
of 8.

8, 18, 24, 44

8, 26, 44, 62

16, 32, 48, 64

40, 48, 54, 76
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